
MSC4SVAQP - SVA SERVICE CRT WITH QA AND PW

Parts Breakdown



Item: MSC4SVAQP

Description: SVA SERVICE CRT WITH QA AND PW

 * RS4QPCHK Caster Hardware Kit (incl 19,20 & 21) * RS4QPCHKBK Caster Hardware Kit - Black (incl Notes:
19,20 & 21)  Also available:  RSRBSDET8PK Ball Bearing Slide Detents (Package of 8). RSMSC46LK 6 Piece Liner 
Kit MSC4FC Set of 2 Fixed 5" x 2" Casters (Optional - Not Included) RSMSC4RD Red Touch-Up Paint RSBKP Black 
Touch-Up Paint RSMSC4BLU Blue Touch-Up Paint  RSMSC4NG Green Touch-Up Paint RSMSC4NO Orange Touch-
Up Paint RSMSC4SBP Stealth Black Touch-Up Paint RSMSC4TI Titanium Touch-Up Paint Touch-Up Paint Not 
Available for Silver Vein

Figure 
No

Part Number Description No. 
Reqd

Warranty 
Code

1 *K7RS4RCP CORD RUBBER PROTECTOR 1

2 K7MSC4LIDSV9 LID MSC4 SLIVER VEIN NEW 9 1 J

3 *K7RSLMQPMSVAN LOCKING MECHANISM (EXCLUDES LOCK) - SILVER 
VEIN

1

4 K7RSGP GAS PISTON 2 B

4 K7RSGPBK ORIGINAL GAS PISTONS F/ MSC4OQ 2 X

5 K7RS4QPHBC HANDLE BACKETS/ PAIR WITH HARD 2 X

5 K7RS4QPHBBK HANDLE BRACKETS/ PAIR W/HARDWR 2 X

6 K7RS4QPHBKC TORX BOLT F/ HANDLE/SS MSC4QP 8 X

6 K7RS4QPHBKBK M8X19 BOLT W/ PLUM BOLTS - BL 8 X

7 K7RSMSC4HDL SIDE HANDLE F/MSC4 1 X

8 *K7* CART BODY 1

9 RSLKB MSC4 LOCK W/KEYS 1 B

10 *K7RSMSC4PLGSVA LEG/EACH - SILVER VEIN 4

11 K7RSMSC4BP BUMPER (SET OF 4) F/MSC4 1 X

12 *K7MSC4PLD3SVRA 3" RIGHT DRAWER - SILVER VEIN 1

13 *K7RSMSC4QSRPSVA SCREWDRIVER/PRYBAR HOLDER - SILVER VEIN 1

14 *K7RS4QPRC RUBBER CUSHION 1

15 RSRBS ROLLER SLIDES FOR MSC4 (PAIR) 4 B

16 K7MSC4SCDSVA SPRAY CAN DIVIDER F/MSC4SVA 1 X

17 *K7MSC4QPBTSVA BOTTOM TRAY - SILVER VEIN 1

18 K7RSSWLCS SWIVEL CASTER W/LOCK 2 X

18 K7RSSWLCSBK BLACK CASTER F/ MSC4 2 X

19 *K7* WASHER 16

20 *K7* SPRING WASHER 16

21 *K7* M8 X 16 BOLT KITS 16

22 K7MSC4QPRPSV REINFORCED PIECE, SILVER VEIN 2 X

23 K7RSSWCS SWIVEL CASTER 2 X

23 K7RSSWCSBK 5" BLACK SWIVEL CASTER F/ MSC4 2 X



24 K7MSC4HBK 6PC BLANK ANODIZED HANDLES 1 J

24 K7SMSC4HC 6PC CHROME HANDLES MSC4 1 X

25 K7RSMSC4JSVA "J" CHANNEL SILVER VEIN F/MSC4 2 X

26 *K7RSMSC4CCPSVA CENTER CLIP-ON PCS/PAIR - SILVER VEIN 1

27 *K7MSC4PLD5SVA 5" DRAWER - SILVER VEIN 1

28 *K7MSC4PLD4SVA 4" DRAWER - SILVER VEIN 1

29 *K7MSC4PLD3SVLA 3" LEFT DRAWER - SILVER VEIN 1

30 *K7RS4QPLHKBK LEG HARDWARE KIT (M8 X 17) - BLACK 32

30 K7RS4QPLHK LEG HARDWARE KIT (M8 X 17) 32 X


